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 Y = -0.192x2+11.523x-101.1  

R2 = 0.4939 

Len

Y = -0.0557x2+6.9963x-64.157 
R2 = 0.565 

Y = -0.6808x2+28.863x-254.24 
R2 = 0.404 

(b) 
80

70
60
50
40
30
20
10

0
 

W
ei

gh
t (

g)
 

(c) 
80

70
60
50

40
30
20
10

0
 

W
ei

gh
t (

g)
 

 0                5               10              15               20              25  

Length  (cm)  

Kahramanmaras 

Guredin stream 

Ceyhan river

Menzelet Dam Lake 

Bertiz stream

Ceyhan river
 

N 

1 cm 

1 km 
Kahramanmaras 

 








	35-39 - Copy_Page_1
	35-39 - Copy_Page_2
	35-39 - Copy_Page_3
	35-39 - Copy_Page_4
	35-39 - Copy_Page_5

